8940-035-2409

WRlE A TR £
5574
RERGY EE
x = BE YR TRA W4 FR BRI | Z2[E O [al %L Pl
1 vV—13 BAKYET 27 7V MRS 13 50 AN =P AT 7 VD
2 V—17Aa BREX v v 77 27 7 )L MRS 13 75 et As 1 HY
3 V—17Ab BRIEX v v F T 27 7V MES 13 75 ) v As TR
4 R—02 FAERRET 27 7L MES 20 50 FAETAT7Vh
5 R—02A HAMBIET 27 7 )L MES 20 75 HATAT Vb
6 R—04 TARERIET A7 7V MES 20 50 HAETAT7 Vb
7 R—04A HAEBRET 27 7 )LV MES 20 75 HATAT Vb
8 R—06 TABRIET A7 7V MES 13 50 HATAT7 Vb
9 R—06A HABRET 27 7V MES 13 75 HATAT 7V
10 LF4E
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
B % #H M M6 10H 1A S MTHE9 A30H




